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1)

2)

3)

4)

5)

TP'TY DRRR AND MOR AIIN2T 52 MDY

mwn
a) W MEN TY 20D 27V AR MWV T PR
b) 7w PR MIXA 7Y 70K MWYH ROW MIIW 2R
XN
a) It’s 70X to do 7o8%1 on 2w ar 27w
X2
a) Nwp

i) why does the 73wn need to teach that there’s an 110°X to do 72871 on oo 27

ii) when the xn>>12 already teaches that there is an 7o%%n M0°k on every 21w o1 27y
nvoIN

a) °now17 says that the o8P MoK on noo 27w is Xxn>>IRT While the 79891 209K on 27w of
other o»2mw oo is 13277

X"
a) Nwp

1) Why doesn’t the X3 answer that the 7awn deals with rios 29y separately because
"mPw is correct and the 7ox%7 710°R on noo 27w is Xn*7IRT while the 7ox57 Mok for
other o°21 o1’ IS 13277

b) y1n
i) The xmx holds that even if *n%w1 is correct that there is this difference

ii) it still can’t be that the 72wn means to teach this difference by dealing with ros 27y
separately

iii) because the mawn uses the same word "m10°Kx" for 7ox%7 on nod 27y that the xn»92 uses
for 7o8%n on 2y of other o°2w oo without any indication that this difference exists
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1) xn»92 as explained by the & n3
a) 77YnY ANInT T2 2 O 2792 DAY 272 7R MWD TI0K
2) mwn
a) The 1o%7 on whether 7ox%7 is 2 before mxn on oo 29y depends on the local x7an
3) xma as explained by *"wn and X"wAnn
a) Nwp

i) It would have been enough for the 7awn to say for noo 27y that “the 75%7 on whether
OR21 is N on nos 27w depends on the local x73n” without adding the words “until
nmxn”

i) and I would have known that

(1) since the xn»Ma says the on all 2°21 oo *27w it’s Mox to do 7ox%» from amn
plilald

(2) the mawn that says the 1°7 is only a 71 applies only before smn
b) y1n
i) For other 02w o *27w the Mo°X doesn’t begin until 7711 N7 17

i) The mwn adds the words before nixn to teach that on nos the MoK begins earlier at
mixn which is anan% 7o

4) "wn
a) "amn" here means mavp amn that’s at axnm NYw v
5) 2"wan
a) Nwp
i) The &3 obviously assumes that "nan? 7mo" is the same as mxn
ii) This is a x°wp to >"w7 who says nmn? 7o means o to 7R amn
b) y»n

i) The correct X0 in >"wA is that 75vn nnaan 1 refers to 9173 nan that’s a half hour
after mxn so that 7nan® 7o is in fact at mxn
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1) X mxin pon noon

2)

a)

IRW N2 WaR were 313 an Mok that *27 was later 7 nn

Xn*A72

a)

077°192 17°NAY RWI ANR R MK 1712 1373 2OINR) 2200 00027

3) mooin

4)

a)

b)

Xowp
1) The xn>92is Mo the pod of "2
IaRb1

1) The xn>n2 of "&wn ank *R" applies only where the people who were 70 knew that
the actual 1>7 was X727 and that their 727 was only a X

ii) The &n>>12 doesn’t apply to xw n°2 *wix who mistakenly thought that their 7%7n was
the actual 17

X n3 here as explained by maoin

a)

b)

The case

i) °xnn 12 knew that 1717 1 there’s no 72n nwaon from 1k and that their 9577 to be
7om woon from Mk was only a X

ii) Ao 21 said that *&nn °12 need to be taught not to be 7%m w>on from IR

ROwp

i) We established that the xn»92 of "&w- 10X °X" applies where people know the correct
7

717°n of w29

i) Partl

(1) The rule that we’ve established that 377°19% 17°n73% *&w1 70X °X where people know
the correct 17 and that their 7277 is only a X applies only where we’re wwin
that if we’re on°192 9°nn they might forget the 7 altogether

(2) For example if *xnm °32 were 1% *25K 1211 we wouldn’t be 2°nn and tell them not
be 191 w>19n on Mk because although >xmn °12 knew the correct 17 we’d still be
wwn that if we’re 9°n not to be 751 w19 from 118 the whole 17 of 751 would be
nonwn as we’ll explain further below
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i) Part?2
(1) But >x1n 12 were actually 2o 137 1210

(2) And here if we’re on192 9°ni and tell them not to be 7%m w51 on 17X the 17 of
7on wouldn’t be nonwn

(3) And in fact it’s better that we tell them not to continue to be 751 w357 on MR in
order to avoid a myv where they’ll be w>1on from 21°n73 Hv 2wo and from 5y 2rn
phiebh

5) mooin
a) Nwp
i)  Where *2x 137 1211 and they know the correct 1°7 that 17X is 7917 12 WD

i) why would they be 21nn 5y mwon won and from Mo %y 210 if we permit them to
continue to be 771 w91 oN 1R

6) X"wann
a) Nwp
i) Why doesn’t maoin ask a similar ®°wp where *2o% 1K 1211

(1) Since they know that the actual 1>7 is that it’s only from 137 that we’re 721 w97
why would they be nanwn the 17 of 7% if we’re 17°192 2°nn and tell them no
longer to be 151 w91 on MR

b) v n
i) Mmoo accepts that where 928 1% 1210

(1) If we tell them no longer to be 751 w57 on X it wouldn’t avail that they know
that the actual 7 is that rMIX is 7717 7 w0 and 337 is 7712 27n

(2) Because they’ll forget 7%n nn anyway since based on our direction they’1l no
longer be :3%m w151 on Mk and since they don’t eat 137 they won’t be 7%m w> o
on 17 either

ii) It’s only for *7o% 137 1210

(1) where the people see 77n nwo7 from 137 and know that X is 1771 1 o from
721 and 137 1S 79n2 20

(2) that m»oin says there is the x*wp on why we’re wwn that
() If we permit them to continue to be 7%m w197 on 1R
(b) people might be 2vna %y MW 12 wWoon and Mo HY 21T N



NIX X"awnl 182 NnIvoIn

1D ORNIDAY MY NPT PR SINR OPIAT WK 217 "innan »'RDT IR KR'Mawm 7''R2
TR P2 AR NPT P2 MDY ONPTIR PO0R RDT TRPRT A'RT RII1N ORIR PR 'y
W'RT2 IOYY RNNAR SINAR ROT TO0 WD 1ApR 117122 71298 Innn TwRRTR 0 nyT

2T

1) mwn

3)
b)

YWY DIPAY PYLIY PRY 2IPR2 R TV PRY 2197 PRIw 2pnn 100
QWY 720w 2P SIIM aWn KXW 2PN M POV PIN

2) XnrM2

a)

077°392 77°NAY RWD ANR OR MNMOK 172 1471 2RI 200N 2227

3) X

a)

b)

d)

hisim Ry inl

i) went from xw° yx where people were 52 and ate X7n*X to 922 where people were
7nn and didn’t eat XRIn*K

ii) and ate x7n*X in 922

Xowp

i) How is this consistent with the mawn that says aw® 2w oypn min 19y 1

717°n of »ax

i) The mawn doesn’t apply mamin of 922 to a person who comes from xaw» y2& to 22
Y17°n of "wx 29

i) The nawn doesn’t apply mmin of "aw? 720w 0pa" to a person who’s M 1NyT

i) And 7am 92 92 727 was MmNyt

4) moon

a)

b)

Xowp

i) Since the Xn>12 says "omP192" "W 0K OK it’s ynwn that
(1) it’s only n1°7 >332 °192 Or *XM3 that NS *RWI 70K X
(2) but a oon may be %p°n to himself or oo 2192

i) How is that consistent with the mawn that says aw? 72nw 2pn > Wy i to teach
that a oon can’t be %P> even to himself

aRb1
i) To answer this xwp rely in the main on the a°x17°n of »ax and “wx 27
ii) Namely — For »ax answer that

(1) The mawn is 2nnn because



(a) As regards the oon himself and other o°»on the mawn deals with a person who
comes from 522 to YW 7R

(b) As regards 3> °12 and *xm> the mawn deals with all cases

(2) The xn>>1a is Hp>n for the oo himself and other o°non because the xn>>2 deals
with a person who comes from & %> 9K to 522

iii) For »wx 27 answer that
(1) The nawn is 2°nnn because

(a) As regards the oon himself and other o»om the mawn deals with a person who
isn’t 1% 1T to the opn where people are 5pn

(b) As regards n1°71 12 and *xn1> the mwn deals with all cases

(2) The xn»12is pn for the oon himself and other o°non because the xn>92 deals
with a person who is 1m% 1nvT to the opn where people are 5pn

5) x"wann
a) Nwp

i) Since the jwpn who asks that the pos of 73m 92 92 727 isn’t consistent with the [awn
obviously wasn’t aware of the °¥17°n of »ax and *wx 21

i) Why didn’t the 7wpn ask the greater x*wp that the mi1wn isn’t consistent with the &n**12
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1)

2)

3)

4)

IP'17Y PPTTRY 1907 Daab 3R awR KXW 210% RORIT ORI PRI DR
1awn
a) QWY Tonw DPn MM Qwn RXOW DR 0IN 1PHY I
\qulabs
a) N

i) If a person goes from 22 to &7 yx he needs to follow the main of Pxw» yax that
he’s aw® 171

ii) If a person goes from Hxw> y-X to 922 he needs to follow the mmn of Hxw» pax that
he’s awn 770

b) w29

i) Ifaperson is 2> 1ny7 he needs to follow the mmin of own xyw pn

ii) If a person is 217 \nyT PR he needs to follow the mmin of ows 20w opn
moaoIn
a) xwp to the yrn of "wx 21

i) The mwn makes it appear that there is a case where a person needs to keep the mmin
of both the awn xx°w o1pn and the aw? 797w opn

i) But we’ve seen that for "wx 27 there is no one such case and that >inp 1>77%%
e 7ahial
a) Why didn’t mooin ask *anp 17735 also for »ax
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NOYOARA 10I1Y N7 N2 DT 2OIDD2 MK anTT "o 2DeT b 11''Ta [2 TNy N1 Y
Boph7 ' DY PR MRD TY WINWID MM 1D D'OY 10 MPan NRD 7Y N
N'DRTD ARY NPNARR MR PAYART T 2579027 MIDATSY MW NOYAwa 210 D07
1MMVEOR KD MMOR AT NIPIARR 217D WIBOT JAPY MIDDINT 1ANDW PINA 1'% nuwh ban
INWAT DR 2TON2TH PRARRT TR NN DwATn 01 M2 MRY 7Y NI RO b
NOYOAWR BT WIIT2 ODIPARY NN KD P27 MRD TV WINWI IIDR MWW 19T 2D
RPNORT 23 DY AR AINRD 77192 OPURD ROOR P27 MRDT MDOINT WPT MINK 28 3R
SIBRT MONR J2X RAPD 1ANOW RTIVN TAD 22D W 21D D VI AT WA BTA N
7Y 2'"'MR WNWI NOYNRR nhRNS JURYY "2 T2 K27 MR 1T nawaw nbnna jupbws
MRT B YRR N2 JWIR P02 3APY MIDOINT 1ANSW 77 9DDT INTI TN M2 NRY
VPRI HTI 1720 SYunk RDOR 2172 D07 1190 P X7 ORI "2 wphi "2 97 RO
JIRIR RDT 2R 29 WWAY RDIRT P27 MRY 297950 N2 winh KON 17 noyhawa
NOYAWR UPLIT P70 IR FT9IORD DAR U197 NN 70 NIPNAR T IR KUK wOPb ana
TIIR2 T2 PO IAPD NIDDINT SN2TH MO 19 QAR 20272 T PT T KD M7 "2 BT

P RYhaRT v '

MARRNNMIT RUTTA MDA VR W7 AR KPT D' Doy "D 0n pawn XYY 7''Na
BITRY I NOYOAWA 21 VD0 VPR RN2AX RAIIT ROTI2 MKRPT DOYD MBI IN2ANW
29! mY 9% NIRT R NR IRDY WS

ROOR 91 33209 N7 2w R 9oy o aranb X9 by e T 1200 ban 7''Na
NPWIR 191N 2"V RNVMINTR 1129 AR PMVOR NPT WRYT 2D N 2WR TR
SPOR KD 372 RZ1ID WP 9752 A1 2B INWAT J1OT 2D 1D W'Y awnd IR
DaR 2172 MDD 7792 WARY RDYD W27 MRY TORY NOPIAW WPHR 17200 12T KON
TTAD WY 12 DIDRY WIT RNMMINTA P02 27 AR 277900 INW2 ON 12 uphiT ¥''aw

tH''PY TP TP 2172 B0 AN 2
1) xn»2on the Mo°x of nvoaw

AN PO N2%pY '97 1129

TOX PIPO0 R2%PY '

TR 77132 POK 2113 00 70X PrPDD IRY PYHW 97 3339 90% RAPY '
PIPO0 WKW

1193 K97 PR 2112 700 710K D0 IR PYBW "7 5% RIPY 'Y
TITPD0 IRW WK

a) We’ll be axan whether the mo°xr for 17790 is Xn>7K7 or 131277 and whether the mox
applies only after 22 1 or even before 22 a1

2) mwn in N°y"aw noon

2172 1790 1°1°90 WY
70X 7 N3Py "1 k) Ny '

a) We’ll be axan why 1wnw " in the mawn is 2ama for 2173 °moo while in the xn»1a he’s Hpn
for 217> o0
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3) nvw of an a1 on the xn»M2
a) Partl
i) All nR7 187 agree that 1°r°o0 that were 1972 in 't 71w are Mok after w2 a7
ii) The xn>>12 deals as follows with 72 11 195 for 1rooo that were 't 7awa P72

TOR T 7AW PYIN TIPO0 R2PY "7 120
MY AT MR? KT
TOR T WA PYIN TP Xpy "
Y2 a7 2197 17X
*199 2772 PO0 XPY "2 XYY R2PY T NOKR T R2°PY " 90% Nwnw "7 120
72277 72 PMOR MY AT Y2 AT %199 PP
TI°D0 IRW TR X7 RDPIRTA
>19% 2772 MDD RPY "D ARWH R1PY N7 NOK 7 RPY 797 wnw "
72277 990X PN MY AT Y2 AT %199 PP
1TPDD IRW UK 1113 K97 X7 RNPIRT
b) Part2
1) X"wann

(1) Since nynw " and Nynw "7 1120 disagree for X2°py ' on whether there’s a 7712
11277 for 2172 oo before M2 ya1

(2) 1t must be that both agree that x2°py '3 holds that it’s only for pPrPoo “xw that
there’s an XN IRT MoK before My yar and that 217 °r°o0 are XN»IRTA NN
before myo2 17

c) Part3

i) It’s not relevant for this X"wnr why 2175 *r°o0 are Xn» K77 treated differently from
TIPO0 INW

4) nvw of an 27 on the mawn in ney*aw noon as explained by 1xa 01 11°21 for on 11020
a) 21> °roo grow more quickly than preoo xw

b) The mawn deals with 2112 °rp0 and rvoo aXw that 7072 7973 beginning in 'Y maw and were
nw1 — in the sense that they weren’t vp%1 — until 2372 a1 in 't mw

c) Even oroo axkw that generally grow more slowly than 2113 >r°o0 reach a large size during
the long time — from "y 2w until 702 ya1 in 't maw — that these a°roo were 2

d) People who see o>r°o0 “xkw of this large size assume the truth that the o oo 8w were 1773
ane2 mainly in'y mw

e) People who see 2175 oo of this large size can assume mistakenly that they quickly grew
T10°K2 beginning in 't maw

f) mwnw " says that it follows that
i) first
(1) in order not to make people think mywa that there’s no &n>>RT MO°R for 2175 *r7°50
that they wrongly assume were m10°%2 Y273 in 't maw until M2 11

(2) it’s necessary for 1127 to be 7m3 an Mo>x for 2172 oo that in truth 7n°2 177
beginning in "1 71w and were 1anw1 until My°27 1 in 't MW

11



5)

6)

9)

i) second

(1) it’s not necessary for 1127 to be M3 an Mok for oo IRw that 1973 in Y mw and
were mnwa until M7 1 in 't maw

(2) because people know that o0 “xw grow slowly and they won’t assume nmyva
that 1573 to their large size in 't 73w until yan yar

iii) note that this 797 explains why

(1) nwnw " is nnn for 2175 °r7o0 in the 7awn in N°yaw noon — because the 7awn deals
with where Y972 beginning in "1 7w and so on as we’ve explained

(2) While pnwnw " in the 092 is ann for oo axw — because the kn>»1a deals with
where 973 in 't 7w and so on as we’ve explained

TYRY "7 1127 say we’re M for "o IRw WK 2172 100"

Twnn of X"wann at oomoon 93 A"

a)

b)

TORY

i) Why is it necessary for on 11°21 to say that the mawn in v aw deals with where the
TrPO0 were nwa until Myean arin 'y mw

n2wn

i) Because we’ve established for an 11°27 that 2112 o0 — even if 721973 — aren’t OX
xn>xTn for X20py ' before Myoan a1

Further qwni of X"wAmn at oonoon 22 7'"7

a)

b)

d)

First 7n7pn
i) @0k are similar to oo 9XY in that they don’t grow as quickly as 2172 *1°50
Second 7P

i) Mmoo at the end of Prroon 93 D nnni »1a7 asks that there ought to be an 131277 Mok not
to use an A17nX that was 272 in Y maw and was 730w until w2 yarin 't mw

ii) lest people think that we’re =°ni an 210 that was 273 in 't 7w until 13027 171
Xowp

i) We’ve established for on 1121 that we’re not wwn that a person might mistakenly
think that a slow-growing plant began growing only in 't maw when in truth it began
growing in " mw

717°n based on one 72nn of mooin below
i) It’s correct that

(1) An xnx that grows only in s 73w until My°27 11 is small in size relative to an
MnX that grew starting in Y maw until 9257 a1 in 't mw

(2) And in fact people would never mistakenly think that an »anx that grew from miw
Y until w27 a7 in 't maw actually grew only in 't maw

i) The xwp of mooin that an »nxk ought not to be used applies only to

12



(1) An xnx that

(@) grew in "y mw and was vp1 in Y mw at the same time of the year that would be
MY mrin 't mw

(b) And was maintained in w1?n-condition until m1w>27 ya7 in 't maw

(2) Since this 210K is precisely the same size as an 210X that grew in 't 71w and was
vpL1 at NYan T in 't mw

7) Further qwni of X"wnmn
a) PN
i) For p7° we go 1v>p> ana for nmino and other o101y of noyoaw
i) Presumably
(1) we also go 1v>p> ana for 7908 MoK

(2) and it would follow that for there not to be an &n>>71x7 70°K for oo that grew in
"y MW it’s necessary that the 1°11°50 be vp21in "y mw

b) xwp
1) So inthe mwn in Ny 2w non
(1) Why does 1ynw " say that oo axw that grew in 'y maw are ann

(2) After all preoo xw that grew in ' maw and were vp%1in 'Y naw are the same size as
7reoD AR that grew in 't 7aw and were v in 't maw — the same as we just said for
2NN

c) y™n

i) In fact for p7> we only go nv°p% ana for 7m0 and other o°1»°1v of N>y aw and not for
77799K 710K

8) v w of XA 0°01 1127 on the Xn»12
a) Partl
i) We established for on 11°27 that
(1) the xn»12 deals with o°°o0 that 'v2 1972
(2) ®x2°py " holds that for 2175 *r°o0 there is no Xn»7IX7 MoK before My 17

(3) And nwnw ' and nwnaw 7 1320 are P whether for X2°py ' there’s at least an
11297 o°x for 2110 oo before Myea a1

b) Part 2

i) o°013°20 disagrees with an w021 and says that X2°py " holds that 2175 *r°o0 that '12 1972
are Xn»MIRT MoR even before Myea 7

i) xwp

(1) Then why do pw»aw " and nw»w "7 1327 argue on whether there’s a 11277 7771 for
2195 10

13



iii) y1n
(1) o°o1 11721 says that
(@) the xn» 2 doesn’t deal with 1700 that '12 7972

(b) instead the xn>>12 deals with whether >0 that 'n w2 1273 are 79°5%2 N0
before wy>w >75 after 't mw

(2) Namely

(@) nynw " and Pynw 7 1327 agree that Prvoo axw that 'm nawa 973 are 132777 MOX
before the 121 of YWy w >75 because

(1) inthe rare case that it should happen that oo axw grow quickly after mw
b

(i) people might mistakenly think that the ro0 axw must have grown
already in 't mw to reach their large size so soon after 't mw

(iif)and that we’re 7°nn these despite the rule of x2°py ' that 1°r°o0 are MR in
't 1w even before 7voa 1t

(b) While for 2173 °r°d0

(i) wnw " holds there’s no reason for a 77°13 to be 10 the 2113 *r°o0 before
the 1 of ywyw >7> because all people realize that 2172 *r°50 grow quickly
and can reach their large size even if 1273 only in 'n maw

(i) wnw "7 1327 are ana for 2172 o150 "PPrPHD IRW WK
9) Twni of moown on the v w of PR 0201 1127 on the Xn»1a

a) the m=1 for Pynw 73127 and pwnrw M in ‘i aaw apply only for ®2°py " who says that in
1 mw all preoo (including 213 oo for 1IR3 0°01 11°27) are Xn*7IRT 0K even before jnr
M2

b) The m=1 don’t apply to X2°py "7 13127 who say that there is no mox for o meoo in 't maw
before 7y°a:7 yar

10) 5"wnnn
a) Nwp

i) We’ve established in the m»7p: at the beginning of this x°x10 that X2°py 97 7127 agree
that after 9992 321 there’s an 8n>RT MoK for all oo

i) So why must it be that it’s only for 82°py "1 there’s a 13277 77°13 for Prroo that 1972
' mwa

iii) Say also for &2°py "7 1121 there is a 771 for these om0 in 'n maw — which is
presumably after m1¥°2 31 in 't 73w — because people might think that the oor°o0
actually grew in 't 72w and became Xn»R7 MoR for X2°py "7 1127 at eyt of 't maw

b) First y1°n

1) It’s possible that the Xn>>12 deals with a time in 'n 71w when there hasn’t yet been 11
7302 for omeoo that grew in 'y maw
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¢) Second y1n

i) The xn>n2 says all 1°r°o0 are 7oK and there exist oo for which there is no my°2 at
all

11) X"wonn — another y17°n to the ®owp of 2"wonn
a) For x2°py "7 7121

i) It’s correct that even Nwnw " would be ana that 1omee 28w are MoX in ' mw after a1
w2 for 't maw because people might be v and say that the °r°so axw grew in 't mw
and should be 710ox after y»2 7

i) Butsince in 't 7w there’s an MoK only after 72 11 it’s not 1anon that Nynaw 17 3129
would go so far as to be 2z also for 2175 °i°50 based on "Prvoo RWY K"

b) While for x2°py "
i) For whom 't mw is so 7°ni that all 1°r°50 are &n>>7x71 70X even before M2 a7

i) we can accept that \wnw "7 1127 are °»nnn to be ana for 2175 roo based on RW 10K
TPOD

12) mvw of nX3 °0111°27 on the 73wn In N°y°aw Noon
a) oRw

1) How does 1xx 0°01 1127 explain the m1wn in n°yraw noon where nwnw " says that moo
2175 are MoX while 7150 IRW are NN

b) nawn

i) 7R3 2°01121 explains the mawn for his own v w in basically the same way that he
explained the 7awn for the nvw of an 11’20

i) namely that the mawn deals with o oo that 121273 and that nwnw ' says that for n*so
2175 persons might think that although the 1700 are large they grew rapidly in 't maw

c) with the following difference

1) since we’ve established that 11X 0°01 11°27 says that 2112 °roo are Xn»>7IXT Mo for "
X2Py in 't maw even before My yar

il) there’s no need to say that the 713 applies only for 2175 *r°o0 that were 10w from
when they grew in "y maw until w2 1 in 't mw
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NAX [12D 2" TN

W B "D 'R 21 RER PRV PR 2R PYIAR T2 B 2mpna R "D RIX 1A 1''7a
TARP ORPY 'R 217 ROR PRIY 17 KD 27 23 07 712 R PYhaRR apna T ar prpTe
RUT ROR 7''2 mbR PPN 1P RS0 29 5w YL N7 %R a8 "D R17Tay K awma
B12% 77 RYT AN TR 72 MPw awh PYoAn 17 KPR NNR YR 2w a2 mawd Thn
199Y20 157 2OMBRT 23 DR WTINT AR 21 IOR2 7''2 D DN YRR MmN awh yuanb

TP 2wh WY YA "2 2R WY AR aYITITY AR YIONTY

1) X

a)

X150 20
i) Although I know xr7 Xy*2p and am xma only one day of v"y

ii) 1 don’t do 719891 on the second day of v"y in a 2w where people are 3711 two days
of v"y

2) nmooIn
a) Nwp
i) All of us today know the m2°v77 70 and yet we’re still am1 two days of v"v
b) y1n
i) X790 271 meant to say that he was xma only one day of v"y because 7"2 >mbw arrived
from o°5w° to his city in time to announce the correct day for 2w av
i) We today are xm1 two days of 21 a1 because 127 n*2 *m>w no longer arrive
3) X"wann
a) Nwp
i) Since 7"2 m>w arrived to the city of X790 27 why wasn’t the whole city xm1 to have
only one day of 2w ar
b) y1n
i) T"2°m%w arrived in the city of X150 21 in time for him to know the correct day for av
m)le
ii) afterwards he traveled to another city where the 7"2 °m%w didn’t arrive and for people
in the other city there were two days of 21w av
iii) X190 27 was in the second city during the second day of 21w o
C) Xwp

i) If x990 21 traveled from his own city and reached the second city before v"y
i) Why is it that 7"2 >m>w didn’t reach the second city in time
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21 71

N1T'2QY X7 v a"T1n

RPIZ2 IR7 25 "2 AR NPT WIDRI RPIX2 19IER 972 KD 292 772 R 7wy 21 7]
SRTY RITT N2 27122 700 RIPARP ORM 17''23 7729 77199057 RINR MWD RO MW R Ny
PARRT 1D RPIXD IORDAD MWDR RYT 2wIDR R IR R IAY NPT RPIXD 927H3
0PI 7TDRY STORDMAL A1 IR NINM DYDY STORDA Y23 MMOR NIR NPT WBR 7''wnT
BOpHT TORDAT PRTD WO FIORDR 2K WIDR W AR YT PaAR NAR YT PR RPIT 0

1)

2)

3)

4)

5)

SP'1TY 29T "2 RIT RMITIN 2T ROITT IORDR 2'RRWR AT 2P RUR RN TN
mwn

a) W PR TIRN MWD XOW 1w 0pn

b) ow? 77w DIPn VM awn KXW DIPR N POV PINI PYW PRY 2IPR7 PRI Dpnn T
XM

a) The mwn deals with where 7> 17 X to the opn that own xy

b) Where 217 1ny7 we’re 9 and we’re not "ow? 727w 0pn v 1oy P

X3 at .x1 97

a) mno2710n

i) went from xw° Y& where people were %2 and ate X7n*X to 922 where people were
7 and didn’t eat XK

ii) and xyix¥a ate XK in 922
XTma at 2197

a) X750 27 was °pa in X707 Xyeap but in the awb 97nw owpn persons were x1a to have a
second day of 2w o1

b) x790 21

i) realized that on the second day of 21 av it was =ox for him to do any 7ox%» “in the
2w of the aw? Tonw opn

ii) but asked whether he could do 75%%» “in the 227” of that oypn
mooin as explained by &"wann
a) TP

i) Since

(1) x"90 21 asks whether in the 127 it’s 9nn for him to do 7ox%» on the second day
of 210 oy and X190 27 in the 1277 certainly counts as 112 1ny7 and his 72877 there
certainly counts as xyixa

(2) And %790 21 mentions that this sort of 7719877 is certainly mox to him in the 2w

(3) It follows that the mo°x in the 2w applies even where i 1ny7 and the 7oK is
§7Ak]

17



6)

b) xwp

i) But the 8721w of 711 72 72 721 teaches that the X7 for 2rn 1577 applies to o°%oxn
even in the 21 so long as the 79°0x is kyixa

c) y™n

i) Unlike 7%°ox that can be xy1xa even in the 2w

il) no nox%n» can be xyixa in the 2w
d) wwp

i) We established that where 2117 1ny7 the mawn is 7°nin to do nox% whether or not xvixa
e) yn

i) The mwn applies to a 7ox%n that’s 7oK only by way of xman

i) The case of x790 21 applies to N3 5w *1w 2w o that’s an absolute MR
In summary
a) 12°IR IS X¥1¥2 N where nh Nyt
b) no897 that’s not an MO X is MM INY72 N even if the 7oX%7 isn’t done Xy1¥2

C) 1oX9n that’s an MoK is Mox in the 23w even if 7% 1ny7 and even if the 7ox%7 is done
XYI¥2
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D'yl A wapnn a"Tn

BT 7' oY 10 A1 NN RARIAD PAvINRT ' 1o avwan ' wasn a''Ta mwn
N2 79 RT920 RDT R0 0 RMINT ROR AT 323D RaRT R0 RS 7T 2T
STTIY 20T MRWANDD XM N7 PTIT RUT PRIDMAA 1270 5770 02T WD 191 RIT NIRRT
BRI R
1) nawn here
a) The Xnp Xin is 7p°n on a certain Py and 737170 " is ann

2) nporn of >"wa and mooin on a w1t mawn whose details aren’t relevant to this X"wamn

oo Al W2IIT N
amla) Al ATPOX
RN Spn birasiial

Spn japleta) X903 120

3) X

a) The xnp xin and 777 " in our mawn disagree in the same np12mn as the o°kan in the awn
in wa1on

b) This table is axan the & n°» of the &7 for >"w and for m»oin

Mmoo Al

W27 AWHA YOI MYHR 1 WADAT AWM VM MR

17T MWNA AT D WAINT MIwN2 nnn i M 17°7 TIWHT RAP RIND WITT Mwn2 pon ywnr M
T

177 TIWAT RAP RIND WAOAT Mawna 9pon A" ATV M0 WADAT AW YW M 2R Panm von AM

PRIAT 1107 WA

o0 Al

ATV M0 WAIAT AN A" 0237 RN 00 MOKR 1 1777 TR ATV M0 WADAT AN PR MR M
PRIAT 1107 Wn3

WIDIT FIWN 1A YW 17°7 TWNAT RHDP RIND WAIDAT MWn1A Hpon ywind

1777 MWNAT XAP RIND WAIDAT Mwn1a Hpon A" ppmmlalbi|

c) Both >"wn and moown could have said that 717> " agrees with 2ry>5x 'y who for >"w is
7°nn the most and who for mooin is °nnn at least in relation to Hx°5n3 129

d) But both >"w= and nm»oin prefer not to say that 7770 "1 follows 213°9% " who is >ninw
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121 7
p'PonT n'al T'NAI n'HW TY AT

5% B'"op 1D WpN KDY RNMMINTA 7T yRwn "7 90D "o Ao 7w "7 [2 Tmy 21 07
22021 9932 23 TIND TN AR MIXN AT 79 A1 IRV IWR T MS0INT 2T
M2 991 1T KON 1IORI0 PRT PAYARS ARP R? RNMINRTAT 197 RO 2R 3790
V'R OIND TR MBI A2 DA "D OO ITITAR M PRT MRPT RRyuRn 170
BaR 37T N2 DAY T NN 'R AT 2N FTTNTIRT MIZINR A TR ROR TIR0D 30K
A1 M7 11O 'R ITITRR MIZAN A2 77O ST PRT STIDIN RAYY IR ARPT MPwITa

1)

2)

3)

4)

"7 RATINTA
P
a) the 7 of w2 in neyeaw is based on "7xR2 WK PR RN
b) we’re w7 that "n>an 1 2% 795 77w WK o 773"
TIwn in yeaw noon as explained by mooin
a) Nw™M
i) 293 7777 23 37 Rk ("mieTa™) MR '
(1) 2232w N0 HY 32572 AW N PRT
(2) Ammaw Mo HY 9773 P93 PR
b) &o0
1) PRYY A2OW 27 ITANRT AT 10 NMITAT M DAKY DAX 252 MEIR N
mooIn
a) Partl

i) Since the xw» for M1 says the 17 of 2302 is based on the rule that "57m2 7om PR
and that rule is itself based on the 105 of 71 7NN

i) it follows xn»x7n that 7302 is determined separately for each 112>7 based on
whether 7°n% 793 in that 7>

iii) In the xo°0 for mxax within a 72> the 7awn doesn’t say that 121 79> 972w 7°0 1°X SO
it’s not clear from the 7wn whether m1v°2 is determined separately for each yax based
on whether 1% 793 in that yax

b) Part 2
i) But there are nxa from elsewhere that 21372 is determined separately for each yax
mow
a) w1 is determined separately for each yx
b) And the reason is that "272 79°73 1R prYaw 7°m prva a9°73 maw 300 PR
c) This is the same ayv on which our wn relies to show that 1132 is determined separately
for each
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5) R"wann

a) It follows for sn>wy that just as the rule for maTn is Xn>>71%7 S0 also the rule for mx X is
RN

b) But for our mwn that doesn’t state a X120 for M¥ X it’s possible that

1) Although msown proved from elsewhere that the same rule applies to mxax as applies
to mTna

i) The rule for mx X isn’t Xn>>K7 and is instead a 131277 79°1a to ensure that the 17
xn»x7 for M is followed

['ironT Al TVNa

TR SNYAY PODRT MM D' B oY 10 MIXAR AP 1 a'M1T 10 A JP0NRT 1M 7''RA
ARP RDT ORI MIDOINT WM TITAR MIZN AP "1 NaT 2wn PhyRwaT Xnbn
TH'"mY Y0 RDRY T PR MR ROTIT2 21N RTINS
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A1 7
YIN2 D'YUT UrTIND XY 190 2" Th

"D KPR RITR WORT 30 MRwYY PR 20182 23 XYM "D ARIw e a7 [N 7wy A a7
FIRTI O ARY 2ONT NRATR ROR 02 TR KD MINT DRATR 27 IRT 110 B By
TH''RY SRR MR 0 MWYD PR 29152 23 2R 197D RD2 WDINY 2T NRNTRA RTPRD

1) xama

a) Y2 DWTR 27ORND IRTIW 2151 KT N70DD AT MW WARW 71T 7AT2 DTR? 12 70K
2) "vn

a) The X3 means that it’s 7871 as if he’s now w>7pn his 1277
3) mooin as explained by x"wann

a) Nwp

i) Since the person wasn’t w*7pn his 127 while it was alive the only w7p: that can apply
is 27 NUYTR

b) Possible y17°n

i) The x7mx in fact means that 7871 as if he’s on7 nwiTp 9°o87 without »>79 and that this
counts as 172°vn

c) Possible y17°n dismissed
i) the n%yn 7 would apply even o192
Xnyv >"yi "N

NOR 2ronh X2 R K927 2o "D MR KD 'Y "D RNT 07 2w NAyL o'y 7''Na
29" mY @R INBANR TOWIPRT OPIPR IRV 1210 10T 2R
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221 7T

wnv 1 X72"% a"1 "N

"D KPR PWRD IR 210 21K IRYY "2 20w KD A a2 Mwasa [2 Ty a7
2IROW NTIAN P NVANT RITTD MU PR WD 23 0I1DN 720 V''7 RNT RvRp 'Y

199190 SRS KRR OENI BTN A 19927 AT 190 K27 O'RWH WIN RPPY ROINT
“B''=y MIDOINT W'D DOIWRT 19127 Huam

1) nawn in Mna noon
a) PN
1) There is no 7271 pran from Paww
b) If a person says Pwwa 1 a0 oy 17
1) R "M

(1) mwx 1w 090 and treat the case as if the person said only nan %y 777 and he
brings a o 12 ann

i) Mynw "

(1) he brings no fmn at all because oon1 o7X 127 932 Ax and he intended only a nmn
MWW N

(2) and since there is no 271 nna from W the person was 0°271nxn 7173 KW 27101
(3) And nynw ' holds that "01%2 R RS 0027007 7772 Xow 2730R"
2) mwn in 87N Noon
a) °ov ' says that
i) If aperson says o°n?w nYMN 7Y NN T 0T

il) 05N 07X 1127 M2 AR and the 127 is that 172 X°2°1 701 2RNONW T 7Y 71R°°p 19727
oW X N7 39 XN

3) X

a) X271 says that nw»w ' who says in mna noon that "oon1 7R 17127 32 AR" follows the
mow of "01° "1 who says "oan1 7K 1°727 9m32 AR in 77N noon

4) xn»™2

a) °mM WKk 017N ate a 07pn 73 on mod 2°% and oon were amin because it appeared as if he
WEre Y2 oow7p PXIW° DR 97Rn

5) Rnx M of the X
a) TP
1) Some o°x7nK say the xn>12 was said by "o
ii) Others say the xn»92 was said by Pynw "
b) xwp
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i) Based on the mawn in mina ndon and the 7awn in 77N ndox neither *01° ™ nor Nynw ™
could have said the xn>>12

i) Since
(1) Once xan establishes that wnw " follows the 7w w of *01° "y on o7& 127 M2 AR
eh2igh

(2) It’s manon also that *ov ' follows the v w of Nynw ' that 7175 XKW 27307
"0192 R XD 0°27I0070

iii) Now for 0?3pn >7a there was no 0°271nn7 7172 0 1271 S0 2122 WAk X2 and why was it
7R71 as if 0170 was owp o8N

6) mooIn at WX NYRY " AT
a) X°wp to the xrnk M of the X

i) If>0y " and pynw " both hold that "oon1 07X 19927 32 AR" and that 7772 X%w 27300"
"0195 AR X2 22271007

i) Why does >ov ' say for on%w nqan a2w nnan that both are 50
b) v n
i) If a person says 72w n7mn and 2w NN
(1) we can interpret what the person means is
(a) that despite the rule that oon1 07X 1727 9m32 AR he’s making Sseparate nan
(i) that aren’t wn9n each other and don’t conflict with each other
(ii) and that he wants to be o»pn both by way of axnonw 7v 7v1n

(b) or that he intends statements that conflict and because he was 7175 X?w 27301
0°273n17 he was 175125 19727 XX

(2) and both o1 "y and nynw " prefer the first interpretation because we prefer to say
that a person wasn’t 77027 1727 XX

ii) While for o mywn 12 nnin *5y i

(1) the word"yww" is being waon the word ";man" and since this is impossible and
the words conflict and there’s no way to be o»pn both

(2) *or "y and nynw " say in the Xk M7 that this is a case of o°27ann7 7175 XOW 27300
and we’re forced to say the person was 119027 1727 XX

7) wipon of the xna as explained by >"wo and R"wann
a) You’re right that
i) 7wnw " follows the nvw of *0y ' that 0501 O7X 19927 32 AR
i) And that as m»oin has explained both agree that

(1) where a person uses terms that don’t conflict and aren’t w15 each other and we
can be o>pn both
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(2) we don’t consider this a case of °271n117 7770 XOW 27301 where we’d conclude
that he was 77037 1727 R*x¥m

b) But

i) unlike the x1n& M7 where we assumed that both >0y " and nwnw ' do apply 273nn
D°a7Inn 7772 X9w where the terms conflict and are woon each other as in man *5v *17
PV T

ii) there is in fact this npyomn
(1) nvnw " says that we do apply the rule of 2192 X1 IR X7 02271017 7770 ROW 27307

(2) »or " says here too to avoid 15v2% 0127 NR¥IT we don’t apply 7772 ROW 27101
apalhiglaty

(3) and
(@) since oW 0*pP% WHR R

(b) We instead say that the 17 is to bring a vni 1 nnan even though in general ™
°DY says that 0on1 QTR 1127 A2 AR

c) Now

i) ©?,pn >7ais also a case where for a reason set out by *"wn and not relevant here o1 '
says we don’t apply the rule of °271n117 7770 ROW 27307

il) so it’s possible to say that *o1 "3 is the Xin of the xn»92 of oy1n
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-1 QT
212X NAYN 'K " T
RYW 297722 99BK "2 M MIPA PR PAT Y o ez mwn PR A" 2 ey a7 |
"5 19577 PINR2 RN NMIWYH ROW AT 2IPRAT MIWPRD KO Xo7 'O "D wm
T2 NNYN INWR 7DD PO KON N2 IYVRWNAR IND 709 99OY ROITT 1D R1IN IORDR
:5'"'?1 D222 39K
1) mwn
a) WY AR AYWNIA FIRYR MWV AW PR
b) 7w PR 7R MWL XOW T 2PN
2) R
a) 2X2 YW XOX 92322 MAX 1PN PR
3) "wn as explained by mooin
a) “Xmw means that
i) Although in %22 on 282 nywn there’s an 79872 M0°KR N a PWW PRY 2PN
ii) Still on a712% n21yn in 922 there’s no 79X MOK €Ven in a PYy PRY 21pn

b) Note that the purpose of >x1w is to teach the 1>7 for m12% n°1vn and isn’t to teach the 1>7 for
2R3 YWD

4) qwnn of the X
a) xon of e
i) "Max noayns R aRa qvwn"

b) At one stage the xnx explains that 73m1° ' means the same as >xmw except that the
purpose of 131 " is to teach the 17 for axa nywn"

i) Although on m12% n°1vn in %22 there’s no 72877 MK €Ven in a PYIw PRY 01pn
ii) Still in %22 on 282 7Ywn there’s an 72821 MO°KR N a YW PRY Dpn
c) wwp
i) Our mwn already taught the 17 for axa gvwn that 7o%%» 70°R depends on the x7an
5) X"wann
a) Xwp
i) Why didn’t the X713 ask the same X°wp to Sxmw
b) y»n

i) We’ve established that the purpose of 2X1W is to teach that there’s no 72x%7 Mok for
a M2x nawn in %22 and our 7awn doesn’t deal with 7oX%1 MoK on M2x NN

i) While the purpose of jam° " is to teach the 7 of axa ywn and our 1w already deals
with axa nywn
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DA ANI* Y NN 'L RINA

BOpHT BRIARD 90T MY 90 XA KDY 1D MR 1925 IRD ORR 10 3957 3R MY "R
TPODIN AR NP2 1IN RIT RN KD OO 0N N7 O'RT MW MWRRT P2 M2 NOIYNT

1)

2)

3)

4)

5)

SR'TY DRIAWY DO 11959570 BN NIRRT 702 KT pawnT v''yan e
plah!
a) First X of Hxmw as explained by >"wn
i)  mmin of Max mavn in SXw° yax apply to 282 avwn in %22 but not to Max nwn in %22
b) The xnx at first assumes
i) that in 9X7w° IR there’s an 79°28 0K at MWHW: 12 0N M2X N°Ivn 27

ii) and that it follows that Yxww holds that in 922 there’s an 7%°5% M0°R at nwnwi 12 of
2X2 7Ywn 27

c) wwp
i) 9xmw said in a second &7 n that on 282 Avwn 29y there’s no 72°2K MOX at mMwnw:n 12
d) y»n
i) In fact there is no 77258 Mok at Mwnw:1 12 of M2°% N2Ivn 27 In PRIW° 7R
ii) And this explains why there’s no 795 M0°X also for axa nywn 27w
mwn
a) MI¥ NPIWN2 O TWAN PR PN
Rapiab}

a) The mwn is a X°wp to HRmw because it presumably implies that “nwy 7%°ox% on n*avn 27w
712X IS MR at Mw»wi 12 when it’s no longer "1 Tvan"

b) y1n
i) The nawn actually means that “nw1 7%°5x continues to be anw until 7>°wn
Twnn of the Xna
a) 7 ' says that "nw 790K is oK at Mwnw: P2 0N 282 7YY
b) xwp
i) 717 " also said that m2x n°1wns R AR 'Y
i) Doesn’t this mean that
(1) Although to eat mwnws 12 is MOX ON M2X N2IYN N PR PR
(2) To eat mwnwn PaisMn oON 2R 'y
R"wAn
a) Xwp

i) Why doesn’t the X3 answer that
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(1) 3am " agrees with Hxmw that to eat mwnw: 122 is w2 0N 2% NN
(2) And this is what 31 "1 means
(@) Although to eat mwnwn 12 is AN 0N M2 N°Iwn in P8 IR
(b) To eat mwnw: P2 IS 99X 0N a82 "0
b) v

i) The plain meaning of the mwn that "12% n*avna oy 7wan PR P is that 900K is
TNy on Max n°avn 27y only ar Twan and is MOR at mwnw: 172
i) now
(1) for Hxmw we can accept the pm7 that the mawn in fact means to imply that 792K is
708 on Max nvavn 27w only starting at night
(2) but we can’t accept this pm7 for jam ' because
(@) if yam " were to agree with Hxmw

(b) He wouldn’t say "m12x n°1yn> 11°R 282 0" to teach us the MoK for mwnwn 172

on ax2 'v by saying this is the opposite of mwn»wi 12 for Max nowwn where it’s
nn

(c) Since persons who hear this 52> are liable to think that mw»w: 1°2 is mox on

2% nhavn and that the purpose of iy " is to teach that mwn»wii 12 is ana for
aX2 7Ywn
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.M T
'8N " RETN AT NIDoINI Xan Xyj'vn YT M'wn

W' INPT RTONR RIN 71029 "2 RIN RAPOYR Damnnn 272 'weea X Ty Mo
TORT W2 ARP B0a2 90T RUR 2IPR DO RN RIVT KD Doy 1''oa pawnT PIvIN
IRTI "OINT SM2TR AR AN RMIOIRT VORW YRWH PO PWD RINTAY P yawn 19
ROR PRI PRY NI 2PN MNMOR P 91D PDRWT TN A9 KD PV NINT PRWHRT

$2"'Y7Y 3372 9097 IIDT RATIR2 RNMDD TR RDT 7D nOAT

K27 5'"op "2 RATIR PR MRPTR DT PTMAY R innR "o A" mRpTa 772 'on
PIPTAT 1D NI02DY RATIA AN RIPOYH RTINON MRPT KT RWT RVRIPT WD WD RN
RPINT RORIP ORR KT D''RT MMRP RNON 2OMOAT DUDn KA 2N MMRPTR 20 T
N7 =210 7°77 TRWPRTT KON DA RNMDD 2MRIR 2R PRDT 2%asm p''n oD vonaT
KPR RTIOIN %10 MwabT pIRTR RPY 1D P RATIR 28 3IOMNINT RHN 572 WWD

R'TY PRR 'oIn s M aY wa phmTe

1) The first mawn —at .1 97
a) WY MI¥A TV 0°10D 227V 7oK MWY? MY opn
b) W PR MXA 7Y 0°10D 27Y2 oK MWYY ROW WTIW 2PN
2) The second mwn —at .n1 97
a) D MR 0°7Om
i) MXn Y 000D 2272 7IRDD PRW 1R AT
i) "y %o Py vi RY 01" after anwn Moy on nod 27y
b) n%°%7 — meaning >3 79°%n
i) oY
i) 7P00 a0 7Y P nn A
3) xp»32
a) anT "
1) MY 7oRDA PYIY vn aTTa
i) Y 92 PRI PR 29932
b) 81 M7 nR
i) IR27 202 07N R OR?
i) NOX
(1) Py wnaw opn
(2) v PR AT ROY DIPN
4) xma
a) Xwp
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i) RMOR RIN D027 KA RIN RIPYH

5) ~"wn

6)

7)

8)

9)

a)

The &7nx means that
i) the second mwn begins by describing the nvw of o non that Xn% n X°%n Xamina

i) But it ends with w"2 who say the 17 is an m0°R because they appear to apply the 17
"opn o2

maoin

a)

P
i)  When 2o%n "1 says to a7 " that "183% 2293 5737 PR KRR

ii) Px» " means that since Xn? 7 X°2n Xa7am2 there’s no point in setting out where the
XM applies because all that’s needed is to be 271 °2°7 1

b) xwp to Rn "

i) Presumably & ' says that *&»w n°2 and %27 n°2 also hold that xn%n» ®°%n Xa71m2

i) How does >xn "1 explain the np17nn of *xiaw n°2 and 977 n°2 on where and when the
amn applied — here too say x1m1 9% 1o

R"wAnn at XApovn a7

a)

First xowp to >"vn

i) xnw nea deal only with 9°%3a 779°97 — why does >"w say that *x»w n°a deal with 55"
"opn

Second Rwp to >"wn

i) Why does >"wn apparently hold that the word " 0" of *&»w n°2 isn’t enough to
teach that they hold that the 75%77 is an mo°x rather than a x7in

Twni of R"wammn

a)

note that

i) moown apparently agrees with *"wn that the word 190 isn’t enough to prove that n-a
*}nw hold that the 715%7 is an mo°K rather than a xmin

ii) Because otherwise maoin wouldn’t need to rely on 2171 °3°77 *11°% to prove from the
npYenn of "xnw nva and 9 noa that the avsw of “knw nva isn’t a a7In

RN ' MRPTA 77 NBOIN

a)

Xowp

i)  Why doesn’t the X3 ask "XM0°K Rin 710271 X7 ®in Xpva" this way:
(1) The xnp xin of the first mawn says directly that xn?°m &°5n Xam3m2
(2) While the second mawn

(a) begins with the format of "o mx onom" that generally implies that o°»on
disagree with the xnp Xin
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(b) presumably because a»on hold that the 17 is an mo°k rather than a aman
b) v n
i) it’s possible that the format o> mx o°nom doesn’t mean there’s an actual xna%s
ii) instead
(1) o'non say to the xnp xin of the first mwn: “Say clearly where and at what times

the o>xman apply — namely say that the o°x7an are not to do 7ox%» until mxn in a7
and all day in %57

(2) Because onon don’t agree with the 727 of 2o&kn " that "xm1 9307 1°5"
10) R"wAnn
a) Nwp

i)  Why doesn’t mooin say that by Xm0 K R1n 710291 R Xin Xpown the & in fact asks
that the first mawn is X371 Rin and 2°»on in the second mawn are XMO°R RiN

b) v n
i) This wouldn’t be an effective Xwp
i) Because the & n3 could easily have answered that
(1) Yes — the xnp Xin says the 7277 is a a7 and o°non say the 72%7is a P17
(2) And this is in fact the n12mn that the format o> oonom implies
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NA"Nn OXI "N

RAWY B3P 15 1N SwSHR Noa2 mONTY AMPOPTT KD 10 12180 RRW KIONR ANy 7'
SNSOMAT P''AT SINKM I SINPT 12130 RAWY 10 IO N33 1T RN T NINPT 1218
7157 12150 RRW 27T W AN RN92 72 29095 97 91 '52 HaR TAINT nvan 1 bowh
SWOBR N33 33 MOITY WTIPORTIT RO T 110 RPIIRD INIIN MOAKM MWK AN NN %70

PMTIRY
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N qT

NN Nyl 2" TN

SR 192 PIRD 9D INERID RITT DO "2 1R anIR 192 17907 TIRYT 700 NPy 7''Na
NF791 1929277 192 I NITAOR2 NRERIR MORT VMWNDY DaR 19R2 whranwn 7 0'ORT 00

1)

2)

3)

4)

5)

6)

A
First 7a7pn
a) 192 means the lower branches of a 5p7
Second 7P
a) m720n are the higher branches of a 5p7
Third nnTpi
a) "nawa waw mo" are oKX
mwn
a) w1 waRk would on naw eat mo that were w1 under a Hp7
b) oomomn were M
X713 as explained by >"wA

a) The npmn between 1 swak and oonon applies to mao that were 22nn at mwnwn 12 and
were later 2w on naw but were caught and are now still held up by n172on

b) But even o°»or agree that m s that fell 19°577 12 to the ground are ana
c) The reason for the np1%mm on M725132 isn’t relevant to this X"wan
moaoin
a) Nwp to the qvw of »"wA
i) Both for m725%2 and 19°571 12 why aren’t we wwin for the Mmook of nawa wiw mas
b) y1n
i) Contrary to >"v"

(1) The mawn deals with m°s that were 1wa before mwnwn a and fell either onto
m72on or Po°2 — so that the 17 of nawa »waw Mo doesn’t apply

(2) after mwnwn a2 the Mmoo fell to the ground from the 17257 or 195
c) For areason not relevant here
1) o owak and oonon disagree whether ms that fell on the m72om are ann
i) They agree that m=°s that fell on the y5°> are ann

iii) The fact that the m17°s were “w1 before mwn»wii 172 explains why the mox for ma»
nawa MwIw doesn’t apply

d) nrwp to the nvw of m»ooin as explained by R"wann
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1) Since the M7 weren’t found until after they fell to the ground from the m725n or the
7D

(1) First xwp

(a) How is a person to distinguish between m=°s that were 1wa before naw and
mas that were 1 w1 in naw

(b) so even for the v w of moon why aren’t we wwin for the Mok of 1 waw ms
(2) Second x°wp

(a) How is a person to distinguish between m=2» that first fell onto 7251 and
m=o that first fell onto 15>

i) Note that the second x°wp doesn’t apply to >"w2 who says that the 7 depends only on
where — m172512 or 19°21 12 — the m7° are when a person finds them on naw
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I"anwa T"Na

T NPY AR NWD P2 N0 2EY AR NIDR RMAPIND KDWY N7 7R02Y PRYR 7''NA
B2 10 9D FIRTIY PIRNAT MR D PP YN RDT

I'm'"'p AX NN T"N2

999 RARD B H'op "1 7OYY RRW TARY TR R 2n0aT 95 anoa RYR 1IN 782 7N
19'"PY N1720M2 BN

" pnT A"T

"> 292505 121 N7 KD MR NANKR RPN PRY 191 707 IBOR RUKR "D ' unT '
H'"PY RIRT 2D "DIN IOPY TV MR N TP 1T RDT 2w ara e B b oy

DMYY7 P a"Ta

A TN MO Doy 1D AR 12 7R KD RPN MOONR 2K "D 2w 19 ''Ta
Ty QW SR IOPY PIRIT NI A1 INTT 12 WARY TR NI 7IX022 712 NIDT ORT
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T T

1non XIX A" TN

50w 1D PET WONR 1D 1720 B9 0w 2" n'RY "o v1en RO TR [R Tmy T |
MO AR DTN WYAR D PPERT DWW 'WNDR R3T MINRDY IR WD TP RO XM
DY YRR TP YRDRT 9T ROR YRR 0 DIpDAT 2R PRPDY RDT a1 unv o''NT
1970 "OINTY anna SMRWMD 39Y TPRMA MR PUSIRY TN IRD RO PNADT WY
NOITT DWW 2OASM QT2 WP YD IRD UNN NI 72 INPT UINRR KDY KO aMaT
TN SIRY 2DYOPR IDIBWT 1TD MRPTD RIT RNPY 2IMWNAT RAYY N7 DV WIDR RNMI23

1)

2)

3)

4)

5)

JH'"Py wyna avves ook

21972 mawn
a) D°Md1 OT°2 MY P ARD 1IN MO WIR
Rapfab}
a) 71°ma 32 gave axe for pv to o»w
b) the father of 1ma 32 told the o»1w

i) "PR RD PINI PR DONOM TWARY 2191 00953 00D 1M1 VIR 03°0yn 137w
"1 sets out two 2°377m on why P07 XD 1M1 PR
a) First 7911 — mentioned by >"w~ in the mwn

1) o°mon were 7mn because

(1) Although 5xo is "wynn 1 anws" still "axs" from P> doesn’t have a ko 17 and is
TWYn 2N

(2) And we’re w>n that o»1v will be 73 and think that P07 11 "aRe" has no wyn avrn
b) Second 721 — mentioned by >"wA in the X3 on M2 12
i) P axe is valid axo and is in fact awyna 1 7w

i) The o°non were 1mn because by giving p°7 31 7R a person is ¥°pon the p7° from wyn
and is "% nR 71

mooIn at .11 77 on the X210 of 1°mMa 72 in the Xna
a) xwp to the first 727 of »"wn that *"w mentions in the mawn
i)  Why does >"wn say that "ixs" on 7 isn’t valid X9 and as a result there’s a wyn 211

i) The 2 should still be 7w from wyn because the 77wn Sva was in effect °pon his
P and poi7 IS YN A MWD

R"Wn
a) Nwp

i)  Why doesn’t mnon accept the second 72n of >"wA that there is in fact a 1o from
wyn and oon were mn because giving nxs from the P92 is ¥pon the P from wyn

38



b) y»n

i) If so the o°non should also have taught that a person ought not to be 2°pon any of his
RN because apoi is also ¥°pon from wyn

c) Nwp

i) Since the xwp of mooin is directed to the first 72n that »"w- applies to the 7awn on A7
n

i) Why didn’t m»oin ask its xwp to >"wn already in the mawn
d) y»n

i) moon prefers to deal with the first 7%nn based on the words of the father of >ma 12
because

(1) We’ve established that for the first 727n of *"wa we’re wwn that o1y will be 7y
that the 7xD is wyna 1» MWD

(2) and the words of the father of 1712 12 to the 01y (1237 1M1 3R 022¥N 125w
0°°%93) support this wwn by suggesting that the o>y in his case were 13 in this
way

**k*

WY 2P 1oV 1T
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